ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 0+4= 2) 0+8=
1.
2.
3) 0+19= 4) 0+2=
3.
4.
5 0+12= 6) 7+0=
5.
6.
7) 3+0= 8) 6+0=
7.
8.
9 11+0= 10) 17+0=
Q.
10.
11) 13+0= 12) 15+0=
11.
12.
13) 0+16= 14) 0+155=
13.
14.
15) 466+ 0= 16) 302+0=
15.
16.
17) 0+886= 18) 512+0=
17.
18.
19) 531+0= 20) 0+282=
19.
20.
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Using the I dentity Property of Addition Name: Answer Key
Solve each problem. ANsSWers
1) 0o+4= 4 2 0+8= 8
1 4
2. 8
3) 0+19= 19 4) 0+2= 2
3, 19
4 2
5 0+12= 12 6) 7+0= 7
5, 12
6. 7
7) 3+0= 3 8 6+0= 6
7 3
8. 6
9 11+0= 11 10) 17+0= 17
9 11
10. 17
11) 13+0= 13 12) 15+0= 15
11, 13
12. 15
13) 0+16= 16 14) 0+155= 155
13, 16
14, 155
15) 466+0= 466 16) 302+0= 302
15, 466
16, 302
17) 0+886= 886 18) 512+0= 512
17 886
18, 512
19) 531+0= 531 20) 0+282= 282
19. 531
20, 282
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ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 16+0= 2) 0+11=
1.
2,
3) 0+5= 4) 0+10=
3
4,
5) 0+4= 6) 2+0=
5.
6.
7) 0+20= 8) 0+12=
7.
8.
9) 0+17= 10) 1+0=
e}
10.
11) 0+9-= 12) 14+0=
11.
12.
13) 0+13= 14) 496+0=
13.
14,
15) 367+0= 16) 0+392=
15.
16.
17) 449+0= 18) 556+0=
17.
18.
19) 663+0= 20) 651+0=
19.
20.
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Using the Identity Property of Addition Name: Answer Key
Solve each problem. Answers
1) 16+0= 16 2 0+11= 11
1 16
2 11
3 0+5= 5 4) 0+10= 10
3. )
4. 10
5 0+4= 4 6) 2+0= 2
5, 4
6. 2
7) 0+20= 20 8 0+12= 12
7 20
8 12
9) 0+17= 17 100 1+0= 1
9 17
10, 1
11) 0+9= 9 12) 14+0= 14
11. 9
1. 14
13) 0+13= 13 14) 496+0= 496
13, 13
14, 496
15) 367+0= 367 16) 0+392= 392
15, 367
16. 392
17) 449+0= 449 18) 556+0= 556
17, 449
18, 556
19) 663+0= 663 20) 651+0= 651
19, 663
20. 651
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 2 11-20(45(40|35|30(|25(20|15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 1+0= 2) 18+0=
1.
2.
3 15+0= 4) 0+14=
3.
4.
5 0+16= 6) 2+0=
5.
6.
7) 20+0= 8 0+4=
7.
8.
9) 0+11= 10) 0+5=
9.
10.
11) 0+19= 12) 0+9=
11.
12.
13) 0+12= 14) 0+977=
13.
14.
15) 0+558= 16) 909+0=
15.
16.
17) 519+0= 18) 374+0=
17.
18.
19) 0+236= 20) 403+0=
19.
20.
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M ath www.CommonCoreSheets.com 3 11-20(45(40|35|30(|25(20|15|10| 5| O




|

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

Using the Identity Property of Addition Name: Answer Key
Solve each problem. Answers

1+0=_1 2) 18+0= 18

1 1

5 18
15+0= 15 4) 0+14= 14

3, 15

a 14
O+16= 16 6) 2+0= 2

5, 16

6. 2
20+0= 20 8 0+4= 4

7. 20

8 .
0+11= 11 10) 0+5= &5

0. 11

10. S
0+19= 19 12) 0+9= 9

11, 19

12 9
0+12= 12 14) 0+977= 977

13 12

14. 977
0+558= 558 16) 909+ 0= 909

15, 558

16. 909
519+ 0= 519 18) 374+0= 374

17. 519

18. 374
0+236= 236 20) 403+0= 403

19. 236

20. 403
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ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 0+9= 2) 5+0=
1.
2.
3) 0+13= 4) 0+1=
3.
4,
5 0+20= 6) 0+17=
5.
6.
7) 0+12= 8) 0+11=
7.
8.
9) 0+2= 10) 0+16=
9.
10.
11) 8+0= 12) 3+0=
11.
12.
13) 0+6= 14) 392+0=
13.
14.
15) 254+0= 16) 951+0=
15.
16.
17) 399+0= 18) 0+524=
17.
18.
19) 0+624= 20) 703+0=
19.
20.
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Using the Identity Property of Addition Name: Answer Key
Solve each problem. Answers
1) 0+9= 9 2 5+0= 5
1 9
2 5
3) 0+13= 13 4 0+1= 1
3, 13
n 1
5 0+20= 20 6) 0+17= 17
5, 20
6. 17
7) 0+12= 12 8 0+11= 11
7 12
8. 11
9 0+2= 2 10) 0+16= 16
9. 2
10, 16
11) 8+0= 8 12) 3+0= 3
11. 8
12, 3
13) 0+6= 6 14) 392+0= 392
13, 6
14, 392
15) 254+0= 254 16) 951+0= 951
15, 254
16. 951
17) 399+0= 399 18) 0+524= 524
17, 399
18, 524
19) 0+624= 624 20) 703+0= 703
]_9. 624
20. 703
1-10 [95]90]85[80|75]70] 65] 6055 [ 50
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ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 0+8= 2) 10+0=
1.
2,
3 0+17= 4) 16+0=
3.
4.
5) 13+0-= 6) 19+0=
5.
6.
7) 0+6= 8 0+5=
7.
8.
9) 15+0= 10) 0+20=
e}
10.
11) 0+14= 12) 0+4=
11.
12.
13) 0+3= 14) 0+328=
13.
14.
15) 490+0= 16) 442+0=
15.
16.
17) 265+0= 18) 885+0=
17.
18.
19) 826+0= 20) 0+819=
19.
20.
1-10 (95|90 85[80]75]|70] 65|60 5550
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Using the Identity Property of Addition Name: Answer Key
Solve each problem. Answers
1) o+8= 8 2) 10+0= 10
1 8
2 10
3 0+17= 17 4 16+0= 16
3 17
4. 16
5 13+0= 13 6) 19+0= 19
5 13
6. 19
7) 0+6= 6 8 0+5= 5
7 6
8. 5
9 15+0= 15 10) 0+20= 20
9 15
10, 20
11) o+14= 14 12) 0+4= 4
11, 14
1. £
13) 0+3= 3 14) 0+328= 328
13, 3
14, 328
15) 490+0= 490 16) 442+0= 442
15, 490
16, 442
17) 265+0= 265 18) 885+0= 885
17 265
18, 885
19) 826+0= 826 20) 0+819= 819
19, 826
0. 819
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 5 11-20(45(40|35|30(|25(20|15|10| 5| O




ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 0+17= 2) 0+16=
1.
2,
3) 5+0= 4) 15+0=
3.
4.
5 0+1= 6) 0+8=
5.
6.
7 0+2= 8) 0+4=
7.
8.
9 20+0= 10) 0+6=
9.
10.
11) 0+19= 12) 13+0=
11.
12.
13) 0+11= 14) 156+0=
13.
14.
15) 198+0= 16) 578+0=
15.
16.
17) 567+0= 18) 216+0=
17.
18.
19) 123+0= 20) 833+0=
19.
20.
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Using the I dentity Property of Addition Name: Answer Key
Solve each problem. ANsSWers
1) 0+17= 17 2 0+16= 16
1 17
5 16
3) 5+40= 5 4) 15+0= 15
3. )
4. 15
5 0+1= 1 6) 0+8= 8
5, 1
6. 8
7) 0+2= 2 8 0+4= 4
7 2
8. 4
9 20+0= 20 10) 0+6= 6
9 20
10, 6
11) 0+19= 19 12) 13+0= 13
11, 19
12. 13
13) 0+11= 11 14) 156+0= 156
13, 11
14, 156
15) 198+0= 198 16) 578 +0= 578
15, 198
16. 578
17) 567+0= 567 18) 216+0= 216
17. 567
18, 216
19) 123+0= 123 20) 833+0= 833
19, 123
20, 833
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 6 11-20(45(40|35|30(|25(20|15|10| 5| O




ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 18+0= 2) 10+0=
1.
2.
3 0+19= 4) 0+3=
3.
4.
5 0+9= 6) 14+0=
5.
6.
7) 2+0= 8 12+0=
7.
8.
9 0+15= 10) 0+5=
9.
10.
11) 0+17= 12) 8+0=
11.
12.
13) 7+0= 14) 0+836=
13.
14.
15) 0+259= 16) 0+430=
15.
16.
17) 0+702= 18) 461+0=
17.
18.
19) 638+0= 20) 131+0=
19.
20.
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
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ﬂé Using the | dentity Property of Addition Name: Answer Key

Solve each problem. Answers
1) 18+0= 18 2) 10+0= 10
1 18
2 10
3 0+19= 19 4 0+3= 3
3 19
4 3
5 0+9=_9 6) 14+0= 14
5 9
6. 14
7) 2+0= 2 8 12+0= 12
7 2
8 12
9) 0+15= 15 10) 0+5= 5
9 15
10, 5
11) 0+17= 17 12) 8+0= 8
11, 17
1. 8
13) 7+0= 7 14) 0+836= 836
13 7
14, 836
15) 0+259= 259 16) 0+430= 430
15, 259
16. 430
17) 0+702= 702 18) 461+0= 461
17 702
18, 461
19) 638+0= 638 20) 131+0= 131
19, 638
20, 131
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 7 11-20(45(40|35|30(|25(20|15|10| 5| O




ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 8+0= 2) 1+0=
1.
2.
3 0+14= 4) 15+0=
3.
4.
5 17+0= 6) 12+0=
5.
6.
7) 2+0= 8 7+0=
7.
8.
9) 0+9= 10) 19+0=
0.
10.
11) 0+18= 12) 20+0=
11.
12.
13) 0+13= 14) 0+691=
13.
14.
15) 872+0= 16) 657+0=
15.
16.
17) 577+0= 18) 788+0=
17.
18.
19) 278+0= 20) 654+0=
19.
20.
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Using the I dentity Property of Addition Name: Answer Key
Solve each problem. Answers
1) 8+0= 8 2) 1+0= 1
1 8
2 1
3 0+14= 14 4 15+0= 15
3, 14
4. 15
5 17+0= 17 6) 12+0= 12
5. 17
6. 12
7 2+0= 2 8 7+0= 7
7 2
8. 7
9 0+9= 9 10) 19+0= 19
9. 9
10. 19
11) 0+18= 18 12) 20+0= 20
11, 18
12. 20
13) 0+13= 13 14) 0+691= 691
13, 13
14, 691
15) 872+0= 872 16) 657+0= 657
15, 872
16. 657
17) 577+0= 577 18) 788+0= 788
17 577
18, 788
19) 278+0= 278 20) 654+ 0= 654
19. 278
20. 654
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 8 11-20(45(40|35|30(|25(20|15|10| 5| O




ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 0+5= 2) 17+0=
1.
2.
3 10+0= 4) 14+0=
3.
4.
5 4+0= 6) 8+0=
5.
6.
7) 0+9= 8 0+15=
7.
8.
9) 0+18= 10) 0+3=
9.
10.
11) 0+11= 12) 0+7=
11.
12.
13) 1+0= 14) 0+592=
13.
14.
15) 505+0= 16) 0+344=
15.
16.
17) 0+782= 18) 167+0=
17.
18.
19) 0+975= 20) 389+0=
19.
20.
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ﬂé Using the | dentity Property of Addition Name: Answer Key

Solve each problem. ANsSWers
1) 0+5= 5 2) 17+0= 17
1 5
5 17
3) 10+0= 10 4) 14+0= 14
3 10
4 14
5 4+0= 4 6) 8+0= 8
5 4
6 8
7) 0+9= 9 8 0+15= 15
7 9
8 15
9) 0+18= 18 100 0+3= 3
9 18
10, 3
11) o+11= 11 12) 0+7= 7
11, 11
12. 7
13) 1+0= 1 14) 0+592= 592
13 1
14, 592
15) 505+0= 505 16) 0+344= 344
15, 505
16. 344
17) 0+782= 782 18) 167+0= 167
17 782
18, 167
19) 0+975= 975 20) 389+0= 389
19, 975
0. 389
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 9 11-20(45(40|35|30(|25(20|15|10| 5| O




ﬂé Using the Identity Property of Addition Name:

Solve each problem. Answers
1) 11+0= 2) 0+8=
1.
2.
3 7+0= 4) 0+10=
3.
4.
5 6+0= 6) 5+0=
5.
6.
7) 0+16= 8 0+15=
7.
8.
9 0+14= 10) 0+4=
9.
10.
11) 20+0= 12) 0+18=
11.
12.
13) 17+0= 14) 0+392=
13.
14.
15) 866+ 0= 16) 0+222=
15.
16.
17) 0+558= 18) 0+852=
17.
18.
19) 803+0= 20) 375+0=
19.
20.
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 10 11-20(45(40|35|30(|25(20|15|10| 5| O
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Using the I dentity Property of Addition Name: Answer Key
Solve each problem. ANsSWers
1) 11+0= 11 2 0+8= 8
1 11
2. 8
3 7+0= 7 4) 0+10= 10
3. 7
4. 10
5 6+0= 6 6) 5+0= 5
5, 6
6. 5
7) 0+16= 16 8 0+15= 15
7 16
8 15
9 0+14= 14 10) 0+4= 4
9 14
10. 4
11) 20+0= 20 12) 0+18= 18
11, 20
12. 18
13) 17+0= 17 14) 0+392= 392
13, 17
14, 392
15) 866+0= 866 16) Q0+222= 222
15, 866
16, 222
17) 0+558= 558 18) 0+852= 852
17 558
18, 852
19) 803+0= 803 20) 375+0= 375
19. 803
0. 375
1-10 195|90(85(80| 75| 70| 65| 60|55 |50
M ath www.CommonCoreSheets.com 10 11-20(45(40|35|30(|25(20|15|10| 5| O




